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Divide Decimals by Integers

9a. Circle the correct answer.

Divide Decimals by Integers

9b. Circle the correct answer.

B. 9.558 + nine =

sevenonesand 714 . _ five ones and 812
thousandths F thousandths
one point one point
orepon 1102 1.012 onepont 1.345  1.453
10a. Caleulate: 10b. Caleulate:
A.11.364 =six = A.3.367 = seven =

11a. Use division fo calculate the answer.

A x9 =971

B X7 =8.645

vy

11b. Use division fo calculate the answer.

A x3 =9.885

B X8 =269

¢

12a. Jess wants fo spilt eight ones, fen

fenths, seventy-six thousandiths info four
equal parts.

Whatis one part equal fo?

12b. Faizan wants fo split six ones, eleven
fenths, three hundrediths and sixteen
thousandths into six equal pars.

What is one part equal fo?





